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1. 'A%
sSwer the
(any ten) following questmns as directed 1/

1x10=10
(ﬁmwmmﬁmwﬁwﬁm

(CL) Th
e
into (1:3;;);: ess of converting -
Munication symMP°




(ii) decoding
SR RG]

{(iii) transmission
CeE

(iv) 'recoding :

P e

(b) Informal communication is characteriseq
by which of the following distinctiveness ?
(Choose the correct .answer)

IS FRANMES [T 4o :
(’f%@mmw’s@?%ear)

(i) Task-oriented
AT

,\y People-oriented
S

(iii) Position~oriented
el
(iv) Structure- oriented

s
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(¢) Motivation is a stimulation of mind under
the management function of '
(Choose the correct answer)

RGN G B TeEde it Feae
(PRI ARDmR e TS ?
(5% Cewehl AR TS

(i) recting
o

() organising
Wi‘ﬁéi?@ Frf

(1i2) controlling

e ot
(iv) CO"O'rdinating
-‘Ww; B

(d) Contro] exercised by lower level managers
is (Choose the correct answer)

ﬁ“ﬁ@aqu i S 31 el
[Eef (W@Wﬁaﬁ@ﬁ@w)

(i) Strategic level control
CFifors siefiraa fAE@d
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(ii) tactical level control

ST~ g

yoPeraﬁng level control
AT AT Fage
(iv). None of the above

@oTd (FIEIIES T2

Which one of the following human neeqs
of Maslow’s theory also finds recognition
in the motivational theory of MeClelland ?

(Choose the correct answer)
s o9 SRS W airaieiromig
frAIS AU SO CRfEiAes o T
weip! o T TR?

) psychological need

fii) | Secumty Heed

y/ gocial need

(e)



N

(g)

Whi
istiflh of the following roles of a manager
portant to defeat grapevine ?

(Choose the correct answer)

R wr o et AR (T
SR S eigaeia 2
. (B Tewdl AR o)
() Management role
Wﬁmﬁﬁﬁ ?ﬁzﬁf
4 Interpérsonal role

\‘(iii/lhformaﬁonal role

S i g

(IU) DeCiSiOI.]al rOle
TGRS hrel

Providine :
y ‘ggmg information to top man
ancial manager is his/ber
(Choose the correct answer)

mWﬁa@m gt et e
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(i) !
Tecurring function

- Moffs
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(i) Nonrecurring function
SAS T I
W i) routine function
(iv) advisory function

TATHITET IR

(h) Which of the following s , part of

4 (567

financial decision-making »
(Choose the correct answer)
oo ! SR Fals fiefaers e o
(3% Tewsy Az )

Investment decisjon

1

(1) il A

(it) Financial decision
e Prars

(iii) pividend decision
eyl R B

(iyy, All of the above
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1
() \:hlch of the following is not included in
emographic segmentation of market ?
(Choose the correct answer)

Eicﬁ,'\‘ﬂ? (PRCH TR SO e ReieT
SRYE T ? (ﬂﬂﬁ@’@@fﬁwﬁ@ﬁ@af)

() Géelfld,er
o=
(i) Age
=

(@) Education

Gk

VW/Cuhu'r e
RS

G) W
Inho introduced
arket]_ng mlx;p
(Choosé the correc

T g a0 we SR
T el aﬂ‘% Sl

the concept of

¢ answer)
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(i) Philip Kotler
feefarst <Beia

(iii) Henry L. Hemen
(@ e, (L

(k) ‘Mobile hand-set’ is an example of
(Choose the correct answer)

‘E”aﬁﬁ@ﬁ W@WWW‘T?
%@7‘%@7‘%@)

péfishable goods

g A

non-durable goods
gt Al
ﬂ durable goods
- @
None of the aboye
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() Fast food outlets like KFC is an example

of which marketing technique : ?
(Choose the correct answer)

@S A Rt @m @ KFC, FEE R0
ol ofafse | (A Bos! AR TS

() Product franchising

iR

AN
J/BUSiness—format franchising‘

e sEoR TR
ﬁilj} E-commerce

E-3315
() Retailing

4t Rste

- g begins an en
. (Fill up the gap)

qumﬁmﬁ@ﬂm_’-a
TS 27 (ﬂf?ﬁﬁ?%‘fﬂ)

(m) |

R sole trader’s hab111ty for the debts

of the business 1S
(Fill up the gap)

ﬁGmWw&mﬂT
eﬂa??év? qacraﬁf)
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(o)

(v)

(@

The Indian Partnership Act, L?_%__Z;trhich
governs the formation ang management
of partnership organisation ip India.

(Fill up the gap)

@ﬁﬂweﬁmﬁwhﬁawﬁm@m
@wamm%ﬁmtﬂf
(0T 518 7179 7)

The maximum NUmber of partners
must be 29 __for a firm carrying ‘on
banking business. (Fill up the gap)
@R TP PRI S e
e T € L/

A partnership is the Tesult of ap
agreement which can be ory Or Written.
. (State T e or False)

@QWW@%W%%MWW
(%% @ oy fery)

=
n B shareholder Is an goc . of the
company- (Biaie True or p al“sé)
‘ﬂ@;{'@@‘fwc” Qmﬁ??@l
% & gon &)
10
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(s) Joint stock company’s sharwre easily
transferable. (State True or False) '

Joint stock company s G AGTNR W
sHiee IR AR (BF @ E%% GE)

(t) - Planning involves an Wlectual
exercise. ; (State True or False)

SRl (R WR-TERI eI | ‘
; (o7 7 q9% fa3)

5. Answer the following questions briefly :
(any five) . 2x5=10
RTHeERT by Yo fal 8 (e si1501)

(a) What is service sector ? 10
CRl A W 6 2

(b)) What is globalisation ?
TR e i 2

() What do you mean by outsourcing ?
e Wi & Tl

(d) Define sole trading business.-

oif-afbar e e |

4 (Sem-1 /CBCS} BOM/G 11 Contd.




(e) Write a note on joint Hing
& 2
firm. iy

W\Tﬁﬁﬁmﬂw\ew@ﬁmml

(1 What is matrix Organisatjop

Matrix organisation ity . ,

What is delegation of authOrityp :

@)
FEY o W & 2

(h) Define leadership.
(oes e 74l |

(i) What is SEBI?
SEBI G f 2

() What is E-commerce ?

E‘Commerce qe ﬁ? ?

Write short answers to any Jour of the

following : Sx4=0(

(@) .
7 WW Q*Pfa@ '1}3‘]‘ CB\HST %Rf”



(b) Write the features of franchising.

[egiaeiEcs g

(c) Write the ‘1rf1portan'ce of delegation of

_authority.,
T9Y UM &FT A 9|

(d) What are the problems associated with
small enterprises ? Explain. e 5
Fu SOOI O SITS s 2
il <4 |

(e) State the mérits and demerits of equity
share.

el TR R S w&ﬁﬂm‘{i T
sl

() Write a note on ‘Make in India’

" Movement.

‘Make in India’ SCHEAI B a%i (oi<sl
G

(g) State the limitations of planning.
AR SRR A Il St
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(h) Briefly explain the Herzberg two-factor
theory.

Herzberg two-factor ey D TR 54

ite long answers to any four of the
- Write

following : 40

SIS 21 e gy
o [

lain the steps of Nced in A, E
.(a) EXPIOW’S ol hierarchy theory of
rhj:;vati on. Also Shumerate 1, Mmerits

and limitations of the theory,
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r
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m%wwﬁm%%%w
PEaRl

el



(c)

(d)

Se

- i
eatures. Explail

Expla;
dxplém four basic principles of
ecision-making. Also state the

ap To . & 5 0
proaches in dec181on—making.
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vantages:
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(g)

(h)

(9

G

Define human resource
Explain its functions,

S AT AT ey gy RN
g 4l

anagement.

What is meant
management ? Discygg the
of financial management.

%WW|

What is pricing? Brieyg
various pricing Policje
companies.

WW@%?%W@%W
Wﬂ‘{m"faﬂqﬁ@“

What is product life cye
the different stages of

financial
Objectives

Y explain the
> adopted py

le? Whet sre
Product ife

cycle ?




